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Analogy Questions

The word analogy means “an agreement or correspondence in certain respect between things otherwise
different -— a resemblance of relations, as in the phrase, “knowledge is to the mind, what light is to the eye™:
«' relation in general: likeness: correspondence of a word or a phrase with the genius of a language, as learned
from the manner in which its words and phrases are ordinarily formed: similarity of derivative or inflectional
processed.” i

The Urdu meaning of the word analogy is

ple 1: interesting the missing word.

Days is to night as truth is to falsehood.
Answer: In the above sentence, the word falsehood has been inserted.

le2: which choice gives the answer?

1. Man is to run as bird is to
Choices: (i) fly, (ii) run, (iii) weak.
Answer; (i)

mple 3: ring is to finger as watch is to

Choices: (i) arm, (ii) wrist, (iii) leg.
Answer: (ii)
TYPES OF ANALOGY TESTS
First Type: The first type is that in which two words which have some relationship with each other are
presented. These are followed by another word and a number of choices. One word from the choices is to be
picked up to establish the same relation with the third word as the first two have. For example---- .
Day is no Night as Cold is to?
(A) Ice (B) Wet
(C) Warm« (D) Snow
The correct answers is (C).
Day and Night bear the relation of the opposites. As cold is opposite of warm.
Second Type: Part relationship—- In this type of relationship, the two words represent the parts of a
bigger thing. For example—
Lyric is to Ode as
Head is to legs
Sky is to earth
Bomb is to science
Newspaper is to journalist
The correct answer is (A).
In the above quoted example, Lyric and Ode are two types of poems. Similarly, head and legs are two
parts of . * human body.
Third Type: Another type of analogy is in which one of the four relationship element is not given. One
out of the choices is selected. Example—-
Ship is to Fish as

(A) Kite (B). Feather
(C) Tree (D) Chirp
is to bird

The correct answer is (A).
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Explanation — Both ship and fish are found in water. This is the relationship between the two
words. For bird, we will have to pick up kite because both are seen in air.
HOW TO ATTEMPT THIS QUESTION
Step One - Establish the relationship between the first two words.
Step Two —-- Find the same relationship among the choices which follows the pattern of the two

KINDS OF RELATIONSHIP
it Purpose relationship Example _ Glove: Balls as
(&) Hook: Fish (B) Winter; Weather (C) Games: Sports (D) Stadium: Seats
The correct answer is (A)
The purpose of glove is to help in catching the ball and the purpose of hook is to catch fish. The
correct answer is (A)
2 Cause and effect relationship_Example _ Race: Fatigue as:
(A) French: Athlete (B) Fast: Hunger . (C) Art: Bug (D) Walking: Running
The correct answer is (B) because fatigue is the effect of race; hunger is the effect of fast.
3 Part whole relationship __Example  Snake: Reptile as

words.

(A) Patch: Thread (B) Removal: Snow (C) Struggle: Wrestle (D) Hand: Clock
4. Action to object and object te action relationship, Examples _ .

A. Kick: Foothall:

{A) Kill: Bomb (B) Break: Pieces (C) Question: Team (D) Smoke: Pipe

B. Steak: Broil:

(A) Bread: Bake (B) Food: Sell (C) Wine: Pour (D) Sugar: Spill

y Kick shows action and Football the object of action. This very relationship is represented in (D) ie,
smoking is action and pipe is the object. For B answer is (A).

L Synonym relationship—

Enormous: Huge as
{A) Rough: Rock (B) Muddy: Unclear (C) Purse: Kitchen (D) Black: White
The correct answer is (B) because “muddy” and unclear are synonvms.

6. Anfonym relationship— Example——
Purity: Evil as
(A) Suavity: Bluntness (B) North: Climate (C) Angle: Horns (D) Boldness: Victory
The correct answer is (A) because the two words are antonyms.

7. Place relationship—Example— Faisal Mosque: Islamabad as
(A) Red Square: Moscow (B)Albany: New York  (C) India: Madras (D) Pakistan: Nepal

—=Faisal Mosque is situated in Islamabad so is Albany in New York.
8. Degree relationship— Example— Warm: Hot as

(A) Glue: Paste (B) Climate: Weather  (C) Bright: Genius (D) Frown: Anger
Warm is less hot and frown is less anger.
2 Sequence relationship— Spring: Summer at.
(A) Thursday: Wednesday (B) Wednesday: Monday
(C) Monday: Wednesday (D) Wednesday: Thursday

Summer comes after Spring so does Thursday after Wednesday.

1a. Association relationship—FExample— Devil: Wrong as
(A) Colour: Sidewalk (B) Slipper: State (C) Ink: Writing (D) Picture: Bed
Devil is associated with wrongs so ink is associated with writing.

1. Grammatical relationship— Example— Restore: Climb as ——
(A) Segregation: See (B) Nymph: In (C) Room: Although (D) Run: See
Restore and climb are verbs so are run and see.
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EXAMPLES WITH EXPLANATORY ANSWERS

ple 1 BRIM: HAT:: Uy g it
(A) hand: glove (B) spoke: umbrella  (C) skirt: hem (D) snood: hood
(E) lace: shoe

Answer: The correct answer is (E)

What is the relationship between BRIM AND HAT? A brim is a part of a hat, so the relationship is
that of part to whole. The next step is to examine the answer choices to find another pair of words which bear
the same relation to each other. Consider each answer choice in turn.

(A) A hand is not a part of a glove, so eliminate (A).

(B) A spoke is part of an umbrella, so (B) is a likely choice. But don’t mark your answer yet. You
must always look at all five choices before making your final decision.

(C) A hem is part of a skirt, but BEWARE. The relationship in (C) is whole (the skirt) to part (the
hem), which is the reverse of the initial relationship. Your answer must maintain the same relationship in the
same sequence as the original pair. Eliminate (C).

(D) If you know that a snood is a hair net, you can see that snood, hood, and hat are all headgear.
However, a snood is not a part of a hood, so (D) is incorrect. If you do not know the meaning of one word
among the choices, do not fall into the trap of choosing that answer just because it's unfamiliar. Consider all
the choices carefully before you mark an unknown answer as correci.

(E) A lace is a part of a shoe, 'so (E) appears to be a perfectly good answer.

Having found two likely answers, (B) and (E), you must go back to the original pair and determine its
other distinguishing characteristics. A brim is a part of a hat, but it is not a necessary part. Not all hats have
brims. A lace is a part of a shoe, but it is not a necessary part. Some shoes have buckles and some are slip-ons.
A spoke, however, is a necessary part of an umbrella. Furthermore, a brim is a part of a hat, which is wearing
apparel. A lace is part of a shoe, which is also wearing apparel. But an umbrella is not something to wear.
Thus there are two counts on which to eliminate (B) and to choose (E) as the best answer.,

Usually, the problem with analogies is refining the relationship to find the best answer. Sometimes,
however, the difficulty will be in finding even one correct answer. If this happens, you may have to redefine
the relationship. Consider an analogy which begins LETTER: WORD. You first thought is probably that a
. letter is part of a word, and so you look for an answer choice that shows a part-to-whole relationship.
However, suppose the question looks like this:

ple 2. LETTER: WORD::

(A) Procession: Parde (B) Dot: Dash (C) Whisper: Orate (D) Song: Note

(E) Spell: Recite
Answer: The correct answer is (D).

Not one of these choices offers a part-to-whole relationship. Returning to the original pair, you must
then consider other relationship between letter and word. If letter is not “letter of the alphabet,” but, rather,
“written communication,” then a word is part of a letter and the relationship betomes that of the whole to its

__part. Now the answer is immediately clear. A song is the whole of which a note is a parl. =

ple 3, PILOT: STEER::

(A) Chef: Dine (B) Boss: Obey (C) Lawyer: Retain (D) Guard: Protect
Answer: The correct answer is (D)
¥ At first glance several of these answers may seem to work. “A pilot is someone who steers.” “A
soldier is someone who is commanded.” The relationship looks promising, but it’s not correct. Ask yourself
who is doing what to whom? In the original pair, the pilot is doing something: the pilot is steering. The choices
B and C: a boss is someone who is obeyed: a lawyer is someone who is retained (hired). Again, the original
grammatical relationship.is reversed.
By definition, a pilot is a pérson who steers. In the same way, by definition, a guard is a person who protects.




91

F T T I
—— f:/!' rhal C':-_"‘Ié‘ LEL f{; T

[T53) DUSBR'S UNIQUE /-~

LDA-@Qssistant Divector Guide.

;)énple 4. INTERLOPE: INTRUSION:

(A) Wimass.: Interrogation (B) Actor: Intermission
(C) Recluse: Interference (D) Mediator: Intercession
Answer; The correct answer is (D). :

Again, ask yourself who is doing what to whom. An interloper is a person who butts in or thrusts
himself into the business of others. An interloper commits an intrusion; he or she intrudes. A witness, on the
other hand, is not the person who conducts the interrogation. A witness is the person who is being interrogated.

You can eliminate choice (A) and any other answer choices in which the original relationship is
reversed. The mediator or go-between is the person who acts, trying to reconcile quarrelling parties by means
of intercession.

ple 5. CONSTELLATION: STARS::

(A) Prison: Bars (B) Assembly: Speaker

(C) Troupe: Actors (D) Mountain: Peak
Answer: The correct answer is (C) '

A constellation is made up of stars. A troupe (not troop but troupe) is made up of actors, Choice C is
correct. :

Note, by the way, the characteristics of the analogy you have just analyzed, CONSTELLATION:
~ STARS. It is a good analogy. The relationship between the words is built-in; if you look up constellation in a
 dictionary, you will see that a constellation is a group of stars. The words are related by definition.

Your correct answer choice has got to have the same characteristics as the original pair. The words
must have a clear relationship. They must be related by definition. If you substitute them in your test sentence,
they must fit it exactly.

mple 6. FISH: TROUT::

{A) Ocean: Wave (B) Mammal: Whale

(C) Bird: Aviary (D) Antenna: Insect
Answer: The correct answer is (B)

A trout is a kind of fish. A whale is a kind of mammal. (Class and Members)

€ 7. DIMMED: LIGHT::

(A) Beached: Texture (B) Muffled: Sound
(C) Measured: Weight (D) Tragrant: Smell
Answer: The correct answer is (B)
T i~ht that is dimmed is lessened in brightness. Sound that is muffled is lessened in volume.
mple 8. DOCTOR: DISEASE::
(A) Moron: Imbecility (B) Pediatrician: Senility
(C) Psychiatrist: Maladjustment (D) Broker: Stocks
Answer: The correct answer is (C)
A doctor attempts to treat a disease. A psychiatrist attempts to treat a maladjustment.
€ 9. PATR@®N: SUPP@RT::

(A) Spouse: Divorce (B) Restaurant: Management
« (C) Counselor: Advice (D) Host: Hostility
answer: The correct answer is (C). A patron by definition provides patronage or support. A counselor by
"_ fnitinn weqyides advice. A oloce shak Dars s
ple 10. CLOCK: TIME:: B
* (A) Watch: Wrist (B) Odometer: Speed
(C) Hourglass: Sand (D)Yardstick: Distance

Answer: The correct answer is (D)
A clock measures time. A yardstick measures distance. (Function).
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The candidate should know about the different types of analogies that are more frequently asked in the
question paper. Some of the common analogy types are as follows:
i. Synonyms:

Some words are linked together in a pair which means the same or has a similar dictionary definition

e.g., Large-Big.
ii. Describing Qualities:

Some pairs have some words in which one word describes the other word, e.g., Hot-Iron.
iii. Class and Member: =

Some pairs have words which are based on class and member basis, e.g., Vehicle-Car
iv. Antonyms:

Some pairs consist of the words that are opposite to each other, e.g., Confess-Deny.

v. Describing Intensity:

Some pairs consist of the words in which one describes the intensity of the other, e.g., Anger-Rage
(violent anger). : i
vi. Function:

In some pairs, a word describes the function of the other word, e.g., Football-Pay.

vii. Manners: -

Some words in a speech describe the manners and behavior e.g., Weep-Bitterly.

viii. Worker-Workplace
Some pairs in a word describe the profession and its workplace, e.g., Teacher-Class.

TEST-1 ' 6.  ANIMAL : MONKEY-

4 : Gi ti -
Directions: In the following questions, select the pair ) cam G E) --‘?:J::lnery
of words given against (4), (B}, {C) or (D) which has : i
the same relation as between the first two words. 7. (C}ﬂf 4%;3%3; STA M(gLTm 56
1. VERITY: CASUISTRY:: (A) Relay: (B) Hurdle:
(A) Egalitarian: (B) Sweet: Independence Perseverance
Equality Meliifluous (C) Sprint: Celerity (D) Jog: Weariness
{C) Constant: a (I} Milk: Cream g DESCRY: DISTANT:: ;
Capricious 3 (A) Moumn: Lost (B) Whisper: Muted
2 NAIVE: INGENUE:: S$8»- (C) Discern: Subtle (D) Destroy:
(A) Ordinary: (B) Venerable: Flagrant
Genius Celebrity 9. FOX: CUNNING::
() Urbane: (D) »Crafty: Artisan (A)+ Dog: Playful (B) Hyena: Amusing
Sophisticate {C) Beaver: @) Vixen: Cute
3. HORSE: CORRAL:: Industrious
(A) Oyster: Reef (B) Dog: Muzzle 10. HOUSE: BIG::
(C) Sheep: Flock (D) Pig: Sty (A) Home : Live (B) School : Daily
4. PROOF: ALCOHOL:: - (C) Water: Cold (D) Clothes : Socks
(A) § Cream: Milk (B) Canteen: Water | 11,  pRIDE - LIONS::
(C)§ Tanker: Oil (D Dctanf:: (A)+ Gaggle: Geese  (B) Honor: Thieves
Gasoline (C) Snarl: Wolves (D) Arrogance:
5. APOSTATE: RELIGION:: Kings
(A) Potentate: (B)e Traitor: Country | 42 BIBULOUS: DRINK::
Kingdom (A) Rapacious: (B) Gluttonous: s
(C) Bureaucrat: (D) Jailer: Law Clothing Food
Government (C) Altruistic: (D) Vegetarian:

pref Strarafle ofy Alesiets ’
= PL““"f\w‘ TbL—P’)‘E‘.‘D/(‘S Covva
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Money Meat
13.  IMPROMPTU: REHEARSAL:
(A) Practiced: (B) Makeshift:
Technique Whim
(C) Offhand: ./ (D) Glib: Fluency
Premeditation
14.  HEAVY: LIGHT
(A)-. Fat : Thin (B) Stupid : Idiot
(C) Rough: Surface (D) Beautiful: Diary
15.  HERMIT: GREGARIOUS:: s\
(A) Miser: {B}wIr Ascetic:
Penurious Hedonistic
(C) Coward: (D) Scholar: Literate
Pusillanimous
16. BELLWETHER: BAROMETER::
(A) Proselyte: Spark (B) Panhandler: Kill
plug
(C) Embezzler: (D) + Cynosure:
Abdict Magnet
17.  PERJURY: OATH::
(A) Plagiarism: (B) ® Embezzlement:
Authority Trust
(C) Disrespect: Age (D) Testimony:
Court
18.  ELISION: SYLLABLES:-
(A)F Contraction: (B) Thesis: Ideas
Letters
(C) Diagnosis: (D) Almanac: Facts
Symptoms
19. OBLIVIOUS: A WARENESS::
(A) CmnaIm;e:\J (B) Serene:
Consciousness Composure
(C) Erudite : (D) Adroit: Skill
Knowledge
20. DIDACTIC: TEACH :- Loy
(A) Sophomoric: (B) Satiric: Moc
Leamn
. (C) Reticent: (Dy="Chaotic : Ruie
Dﬂﬁ'!-'r"-jm ‘.:'L Cﬂl‘lplﬂin )'—//
21.  ACT: ACTION:-
(A) Therapy : (B) Oblivion:
Thermometer Obvious
(C) Liturgy: (D) Image: Imagine
Literature [ e Waak
22. SONG:/RECITAL::)
(A) Author: % (B) Episode: Series
Bibliography
(C) Coach: Team (D) Dancer: Agile
23.  MENDACITY: HONESTY == (o161 m -

(&) /C

ourage: (B) Truth: Beauty

Cravenness

Dﬂ—ﬁns&m Dizector Guide,

(C) l/f:‘ourage:
Fortitude
24, ;
(A) Depth: Trenchv'
(C) Weight: Age
25.
(A) Thaw: Snowfall
(C)~ Silt: River

= Verbal Abilit

(D) Unsophistication:

Ingenuousness

HEIGHT: MOUNTAIN:-

Shade: Tree
Speed: Highway

(B)
(D)

DETRITUS: GLACIER::

(B)
@)

Snow: Ice Cap
Range:
Mountain

TEST-2

Directions: In the following questions, select the pair
of words given against (4). (B), (C), (D), (E) which
has the same relation as between the first two words:

1. Oasis: Desert
(AN Lunch: Dessert

(C) Forest: Jungle
(E) Affluence: 3
Poverty w)‘

(B) Inveigh: poote -

Inveigle
(D) Ocean: Bay

2. ' Sad: Morose o

(A) Robust: Weak ¥

(C) Grass: Food
3. Work: Tired
(A) Flayer: Field
(C) vRace: Fati gue
(E} Cook: Eat
4. Thin: Sparse
(A) Tract: Tome

(C) Preface: Book
(E) 3Corpulent:
Obese
5. Sad: Melancholic
(A) Over: Under
(C) Weak: Robust
(E) Floor: Ceiling

6. Flurry: Confusion
(A) Waler: Thirst
(C} Colour:
Attraction
(E) vIntimidate: Fear
7. Turbid: M,
(A) River: Lake
(C) Bell: Ring
(E) Deep: Shallow
B. Fresh: New

(A) Wisease: Malaise (B)

oty

(B) Ingress: Egress
(D) Glad: Happy
ity -

(B) Swim: Pool
(D} Book:
Knowledge
(B)
(D)

Prologue:
Epilogue
Tree: Tall

tower Lenel ! kighav A

(B) Joy: Ecstasy &
(D) Book: Writer

(B)
(D)

Night: Sleep
Job: Pay

Tree: Darkness
Huge: Colossal v/

(B)
(D)

Supercilious:
Meek
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10.

11.

12

13.

14.

15.

16.

17.

18.

(C) Epical:
Humeorous
(E) Strident: Polite
Wheel: Hub
(A) Sea:Island
(C) Ruling Party:
Cabinet
(E) Watch: Needle
Speech: Peroration
(A) Dinner: Dessert

(C) Argument:
Conclusion
(E) Money: House
Death: Lament
(A) Impose: Fine -
(C) Make: Furniture

(E) Learn: Lesson
Virus: Disease
(A) Discussion:
Fight
(C) Suggestion:
Acceptance
(E) Clothes:
Gentleman
Foot: Toe
(A) Body: Legs
(C) Nail : Fingers
(E) Leaves: Tree
Zenith: Nadir
(A) Serious: Sober
(C) Fat: Protein
(E) Peak: Foot
Giggle: Chortle
(A) Smile: Grin
(C) Emancipation:

Bondage
(E) Edifice: Facade

Immaculate: Spotless

(A) Fastidious:
Punctilious
(C) Mitigate: Pain

(E) Ally: Lesson
Fever: Flush

(A) Liquid: Gas

(C) Wings: Flap

(E) Cough: Cough
Pistol: Shoot
(A) Stone: Throw

D)

(B)
D)

®)
®)

(B)
(D)

(B)
(D)

(B)
D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
D)

(B)

LDA—s3is

Indigent:
Affluent

Body: Heart
Life: Happiness

Country:
Boundary
Style: Debate

Cast Vote
Celebrate:
Centenary

Desire: Success

Bombardment:
Destruction

Belly: Intestines
Hand : Fingers

Food: Hungry
Majestic:
Sublime

Melancholy:
Antipathy
Insipid:
Charming

Careless:
Carefree
Allay:
Aggravate

Malaria: Shiver
Rehearsal:
Drama

Catechism:

¢ant Dizectox Quide

19.

20.

21.

22.

23.

25.

26.

2T,

28.

29.

30,

(C) Ball: Goal

(E) Sword: Cut
Prelude: Symphony

(A) Drama:

Epilogue
(C) Meal: Dessert
(E)

Preamble:
Constitution
Chains: Clang
(A) Leaves: Twigs
(C) Door: Lock
Wire: Snap
Loud: Blatant
(A) High: Low
(C) Penchant:
Trenchant
Good: Bad
Earth: Sun
(A) Venus: Mars
(C) Sun: Galaxy
(E) Universe: Pole-
Star
Room: Cell
(A) Fort:
Battlements
(C) Hall: Room
(E) Bedroom: Bed
Coal: Mine
(A) Rice: Husk
(C) Seed: Pod
(E) Paper: Pulp
Lion: Pride

.
EA} Tiger: Strength
C) Building: Height
(E) Book: Study
Voice: Aphasia
(A) Hearing: Ear
(C) Sleep:
Somnambulism
(E) Sight: Blindness
Swan: Cygn
(A) Horse: illy
(C) Pig: SF[
(E) Leaf: Flower
: Scythe
A) Surgeon; Scalpel
C) Butcher: Sheep
(E) Writer: Ink
Hassock: Kneeling
(A) Kttn]l:in:l:

Cooking
i‘g} Field: Running
} Hearth: Cooking

Barometer: Pressure

(A) Humidity:
Hygrometer

(C) Height: Pole

I Terbal

ALl by —

Church

(D) Shaft: Fling

(B) Epilogue:
Prologue

(D) Ticket: Show

Coins: Jingle
Wolf: Roar

(B)
D)

Circle; Oval
Noisome: Fetid

(B)
(D)

Pluto: Moon
Sun: Star

(B)
(D)

(B) Arcade: Arbour

(D) Building: Office

Heart: Body
Marble: Quarry

Wolf: Cub
Fish: School

MNose: Smell
) Hunger:
Starvation

(B; Elephant: Goad
(D) Trce: Forest

Barber: Hair
Batsman: Bat

(B)
(D)

Bedroom:
leepin;
Chair; Sitting

(B)
™)

Blood
Circulation:
Stethoscope
Sea: Wave

(B)

(D)
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3.

32.

-33.
34,

35.

36.

37.

38.

39.

41.

42,

(E) Height: Depth
Bugle: Sound

(A) Hom: Head

(C) Flute: Hole

(E) Drum: Hit
Say: Assert

(A) Request:

Implore

(C) Paint; Describe

(E} Solve: Sum
Grain: Skin

(A) Wheat: Barley

(C) Wood: Grain

(E) Book: Alphabet
Staircase: Degrees

(A) Ladder: Rung

(C) Tree: Trunk

(E) Book: Leaves
Mascot: Ominous

(A) Auspices;

Auspicious
(C) Game: Player

(E) Victory: Defeat
Book: Leaves

{A) Table: Legs

(C) Rosary: Beads

(E) Classroom:
Desks
Peacock: Pride
(A) Goat: Kid
(C) Lion: Bravery
(E) Loan: Debt
Painter: Brush
(A) Student: Paper
(C) Farmer: Field
(E} Doctor:
Medicine
Wool: Shear
(A{ Bicycle: Pedal
(C) Tree: Planted
(E) Bell: Ring
Wool: Cashmilon
(A) Sheep: Grass
(C) Wood; Furniture
(E) Butter:
Margarine
Slip: Hurt
(A) Neglect:
Punishment
(C) Hard Work:
Deprecate
(E) Cry: Pain
Society: Ostracise
(A) Family: Member
(C) Judge: Order

Wolf: Cub
(A) Id Man:

®)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
D)

(B)
(D)

(B)

Horn: Blow
Flute: Blow
Tell: Narrate
Tea: Coffec

Wood: Table
Book: Wrapper

House: Storey
Table: Legs

Loss: Defeat
Beginning:

Introduction

Teacher: Books
Country:
Crovernmeant

Man: Manikin
Monkey; Man

Sculptor: Chisel

Writer: Ink

Fan: Switch
Feather: Pluck

Cloth: Dress
Paper: Bamboo

Plant: Tree
Stand; Walk

Zoo: Animal
Government:
Exile

Forest: Tree

45,

46.

47.

Young Man
(C) Parliament:
Cabinet
(E) Book: Booklet
Speak: Shout
(A) Whimper: Bang

(C) Gallop: Stop

(E) Word: Sentence
Friend: Love

(A) Enemy: Hate

(C) Officer: Defied

{E) Neighbour: Talk
Cool: Liked

(A) V' Cold: Disliked

(C) Truth: Hidden

{E) Question:
Solved

Expand: Expensive

(A) Expand:
Expansive

(C) Defend:
Intrusive

(E) Sensitive:
Obstrusive

Watch: Wrist

(A) Clock: Time

(C) Success: Work

(E) Grain: Field

——— Z’E sk £ Q‘E{f: EELE o —

(D) Swan: Cygnet

Silence:
Whisper
Eat: Digest

(B)
(D)

(B) Woman: Marry
(D]_ Leader: Hear

Hot: Welcomed
Weather:
Pleasant

(B)
(D)

(B)
(D)

Deceive:
Deception
Think: Pensive

(B} Room: Sitting
(D) Ornaments:
Decoration

49.  Bulb: Socket .
(A) Pen: Inkpot (B)- Necklate: Neck
(C) Foot: Knee (D}~/Eye: Socket
(E) Hair: Scalp
50.  Aeroplane: Pilot
(A) House: Mason (B) School:
incipal
(C) Assembly: (D)~ Car: Chauffeur
Speaker
(E) Machine:
Engineer
ANSWERS ]
L.I®2 @B Tk [®p (@]
6. | EREE (D) |8. (A) |9, (C) |10. [ (C)
lu. M) 12 |®)]13. | @) [14. [(E)[15. T(A)
(5@ 17 [ @) 18 [)[19. | (E) 20. (B)
21. | (@) [22. [(©)[23. [(C) 4. [ ()]25. [ (D)
6. | (E) |27. | (A) |28. (A) [29. | (D) |30. (A)
31. | (B) |32. | (A)[33. (C) 134. | (A) ]35. | (E)
6. | (C)|37. | (C) |38. (B) [39. | (D) |40. | (E)
. | (A) [42. | (D) [43. | (D) |44. (A) [45. | (A)
6. | (A) 147. | (A) [48. 49, 50.
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Synonym / Antonym Tests

Directions. In the following questions, each word is followed by four responses a, b, ¢ and 4. You
should choose the correct synonym of the given word out of the four choices.

1. Abandon : (C) deflenerate {D) ordain
(4) wvacate (B) foil 19 Darmant ;
{C) lose D) gain {4) aclive (B} vigilant
2 Abdicate : (C) warbling (D) inert
(4} giveup {B) imperious 20. Don :
(C} rude (D} dissent {4) doff (B} assume
3. Abhor ; {C) pine (D} blithe
(4) crave (B) reconcile 21. Exemplify :
{(C) Detest (D} rude (A} reprehensible (B) illustrate
4. Abnegation : (C) empty (D) finish
{4) indulgence (B) rejection 22 Entramel :
(C) complete {D) final (A) hamper (B} extricate
5 Axiom : {C) apathy (D) amuse
{4) absurdity (B} shirk 23 Emendation :
(C) elude (D) maxim (4) irritant (B) stoicism
6. Bloated : {C) barren (D) rectification
(A4) privileged {(B) emaciated 24. Elude :
(C) swollen (D) rapture (4) evade (B) rule
7 Blemish : (C) sway (D) fascinate
f4) disgrace (B) eccentric 25, Exuadation :
{C) young (D) fair {4) aridity (B) ecstasy
& Bizzare : {C) percolation (D} horrid
(4) normal (B) strange 26. Frivolous :
{C) logical (D) tense {4) scrious {B) trivial
9, Bawl : (C) peculiar (D) candid
fA4) mulberry (B) mutter 27. Furtive : "
{C) vociferate (D) daub {4) public {B) open
10. Bequeath : {C) secretive (D) combine
{4) alienate (B) stab 28. Fugitive :
(C) obstruct (D) dispose of {A) escaping (B) enduring
11 Cataclysm : (C} vam (D) weak
{4) reverse (B) upheavel 29, Fulminate :
{C) pungent (D) trash {4} clamour {B) misfire
12, Cupidity : (C}) barren (D) prodigal
{4} extravagance (B} shrewd 0. Frugal :
(C) complaisant (D) avarice {4) prolific (B) efficacious
I3 Cumbersome : (C) clamour (D) thrifty
{4) awkward (B) analysc 3L Guile :
(C) decay (D} grow {4) candour {B) wander
14. Culmination : (C) deceit (D) sense
f4) nadir (B) apex 32 Grotesque :
(C) lenient (D) Dblast {4) ordmary (B) archaic
I5. Crestfallen ; {C) wusual (D} crawl
f4) humiliated (B) hard 33. Gluttony :
(C) elite (D) frustrated (4) frugality (B) torment
6. Deluge : (C) voracity (D) thwart
f4) flood (B) object 34. Grardiloguence :
(C) annihilate (D) resiore {4} simplicity {B) wanton
2 i Dereliction : {C} shear (D) verbosity
f4) altention (B} neglect 35 Griegf :
(C) divorce (D) restore {4) delight (B) sorrow
18. Derogate : (C) redundancy (D) beauty
{A) exaggerate (B) calm Directions. In the following questions, each
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word is followed by four responses a, b, ¢ and d. You
should choose the correct antonym of the given word
out of the four choices.

36.

37

38.

39.

40.

41

42.

43.

4.

45.

46.

47.

48.

49.

50.

5L

52.

53.

54.

Abbreviate :
{4) abridge
{C) achieve

Abjure :

{4} acknowledge
(C} deny

Absurd ;

(4} scarcity
(C) rational

Abundant ;
fd4) ample
(C) great

Acerbity ;
{4) Sweat
(C) tasty

Blooming :
(A} Fading
(C) quiet

Bliss :

{4) merge
(C) dull

Bewitch :
{4) disenchant
(C) profit

Bmd.'ifiéh
(A aythin
(Cj pmcdest e

Busy :

(A) gully
{C) indolence

Celebrity :
{4) celebration
(C) obscurity

Cataclysm ;
{4) peace
(C) quibble

Concord :
(4) consclidate
{C) outline

Compliance :
{4) condone
(C) resistance

Circumlocution :

{4) amass
{C) effusion
Despicable :
(4) ﬂﬁrﬂrthy
(C) eam
Ductile :
(4) indistinct
(C) inelastic
Dormant ;
(4) Inert
{C) indulgence
Dissi, -

(A) accum'ulate
(C) percolate

(B)
(D)

(B)
(D)

(B)
(D)

(B)
D)

(B)
D)

(B)
(D)

(B)
D)

(B)
(D)
(B)
(D)
(B)
(D)

(B)
(D)

(B)
(D)
(B)
(D)
(B)
D)

(B)
D)

(B)
D)

(B)
(D)

(B)
(D)

(B)
(D)

expand
accept

disown
hate

adorn
flourish

enough
scant

gentleness
accoumnt

flowering
mild

disseminate
suffering

rapture
avail

valuable
besiege

curb
occupied

solemnity
hazy
deluge
conjecture

bestow
discord

clamour
condense
ambiguity
simplicity
contemptible
purity
vague
quiescent
doff
active
distil
emanate
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Ability

55. Disdain :

f4) haughtiness {B) erroneous

(C) respect (D) contempt
56. Ephemeral :

(4) transient (B) perpetual

(C) disencumber D) demote
Ly Erudition :

fA) ignorance (B} evict

(C) scholarship (D) dubious
38 Exultation :

{4} ecstasy (B} frugality

(C) mourning (D) severe
59. Expunge : :

{A) erase (B) dilate

(C) entity (D) imprint
60. Extenuate :

(4) palliate (B) _quality

(C) enhance (D} offhand
6l Flax :

{A) stillness (B} motion

(C) swerve (D) wince
62. Fatigue :

(4) vitality (B} weariness

{C) solemn {D) enchant
63. Fume :

(4) frown (B} chafe

{C) comply (D} dupe
64. Fugitive :

{4) evanescent (B) captive

(C) unkempt (D) smart
65. Fulminate :

{4) murmur (B) clamour

{C) efficacious (D) vain
6. Callant ;

{4) bold (B) fing

{C) frolic (D) coward
67. Garrulity :

(4) reticence (B) gaudy

(C) superb (D) abettor
68. j}enmus: @ visul

{4 ma@animous visu

(C) vivid (D) stingy

ANSWERS

1 (4] 2 1(4)] 3 |(C)| 4 |(B)| S (D)
6 (€1 71| 8 |(B| 9 [(C] 10 |(D)
11 [¢(B)| 12 | (D) | 13 |(4) | 14 | (B} | 15 | (D
16 [(4)| 17 | (B) | 18 | (C) | 19 |(D}| 20 | (B) |
21 [(B)1 22 1(4) |23 [(D)] 24 |(4)| 25 | (C
26 | (B)| 27 {'g) 28 1¢4)[ 29 | (4)] 30 [ (D)
31 (C)[ 32 | (B)] 33 [(C)] 34 | (D)[35 [ (B)
36| (B} |37 |(4)| 38 [(C)] 39 |(D)| 40 | (B)
41 [(4) 142 | (D)| 43 | (A)]| 44 | (B) | 45 | (C)
46 [(C) 1 47 1{4)[ 48 | (D) | 49 | (C) | 50 | (D
51 |(4) {52 1(C)| 53 [ (D)]| 54 | (4)]| 55 | ()
56 |(B)| 57 |(A)| 58 |(C)| 59 [(D)] € |(C
61 [(4)[62 1(4)] 63 [(C)]| 63 |(B)| 65 | (A4)
66 [(D)| 67 | (4)| 68 | (D)
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